Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 10 - Kirkcaldy North

5,063

1,266

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Neil CROOKS	Scottish Labour Party	1,486
Harald GAVIN	Scottish Liberal Democrats	129
Jane GLEN	Scottish National Party (SNP)	570
Susan Natalie JEYNES	Scottish Green Party	149
James LESLIE	Scottish Conservative and Unionist	896
Carol LINDSAY	Scottish National Party (SNP)	1,076
David ROSS	Scottish Labour Party	757
	Total	5,063

Candidate Neil CROOKS Elected with 1,486 votes, being in excess of the quota of 1,266

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Neil CROOKS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Harald GAVIN	46	0.14804	6.80984
Transfer to Jane GLEN	84	0.14804	12.43536
Transfer to Susan Natalie JEYNES	21	0.14804	3.10884
Transfer to James LESLIE	69	0.14804	10.21476
Transfer to Carol LINDSAY	61	0.14804	9.03044
Transfer to David ROSS	1,104	0.14804	163.43616
Value of non-transferable ballot papers			14.96460
	Total		220.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Harald GAVIN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Jane GLEN	9	0.14804	1.33236
Transfer to Jane GLEN	6	1.00000	6.00000
Transfer to Susan Natalie JEYNES	31	1.00000	31.00000
Transfer to Susan Natalie JEYNES	5	0.14804	0.74020
Transfer to James LESLIE	10	0.14804	1.48040
Transfer to James LESLIE	31	1.00000	31.00000
Transfer to Carol LINDSAY	4	1.00000	4.00000
Transfer to Carol LINDSAY	1	0.14804	0.14804
Transfer to David ROSS	16	0.14804	2.36864
Transfer to David ROSS	32	1.00000	32.00000
Value of non-transferable ballot papers			25.74020
	Total		135.80984

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Susan Natalie JEYNES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Harald GAVIN	0	0.00000	0.00000
Transfer to Jane GLEN	2	0.14804	0.29608
Transfer to Jane GLEN	31	1.00000	31.00000
Transfer to James LESLIE	28	1.00000	28.00000
Transfer to James LESLIE	3	0.14804	0.44412
Transfer to Carol LINDSAY	3	0.14804	0.44412
Transfer to Carol LINDSAY	40	1.00000	40.00000
Transfer to David ROSS	39	1.00000	39.00000
Transfer to David ROSS	11	0.14804	1.62844
Value of non-transferable ballot papers			43.03628
	Total		183.84904

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Jane GLEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Harald GAVIN	0	0.00000	0.00000
Transfer to Susan Natalie JEYNES	0	0.00000	0.00000
Transfer to James LESLIE	5	0.14804	0.74020
Transfer to James LESLIE	5	1.00000	5.00000
Transfer to Carol LINDSAY	534	1.00000	534.00000
Transfer to Carol LINDSAY	46	0.14804	6.80984
Transfer to David ROSS	17	0.14804	2.51668
Transfer to David ROSS	16	1.00000	16.00000
Value of non-transferable ballot papers			55.99708
	Total		621.06380

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Carol LINDSAY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Harald GAVIN	0	0.00000	0.00000
Transfer to Jane GLEN	0	0.00000	0.00000
Transfer to Susan Natalie JEYNES	0	0.00000	0.00000
Transfer to James LESLIE	5	0.03584	0.17920
Transfer to James LESLIE	76	0.24211	18.40036
Transfer to Carol LINDSAY	0	0.00000	0.00000
Transfer to David ROSS	507	0.24211	122.74977
Transfer to David ROSS	55	0.03584	1.97120
Value of non-transferable ballot papers			261.13191
	Total		404.43244

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of James LESLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil CROOKS	0	0.00000	0.00000
Transfer to Harald GAVIN	0	0.00000	0.00000
Transfer to Jane GLEN	0	0.00000	0.00000
Transfer to Susan Natalie JEYNES	0	0.00000	0.00000
Transfer to Carol LINDSAY	0	0.00000	0.00000
Transfer to David ROSS	5	0.03584	0.17920
Transfer to David ROSS	56	0.14804	8.29024
Transfer to David ROSS	47	0.24211	11.37917
Transfer to David ROSS	395	1.00000	395.00000
Value of non-transferable ballot papers			576.61043
	Total		991.45904